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’ 100kN/mM%E#BZ % -l -~ = -|3m%Ei#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&xHZ5 -~ = = =
s 1.00/0.00 ~ 474 59.10] ZhLls |0.00 ~ 4.74] 1.79 9.04 Lo 1.00] 5.00 ~ 5.00 59.10| =nkist | 500 ~ 5.00f 1.79 9.04
9 100kN/mM%E{BZ 5 -l -~ = -|3m%Ei#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&xHZ5 -~ = = =
s 1.00/0.00 ~ 5.28 65.81| =hLls |000 ~ 528] 1.99 10.07 Lo 1.00] 500 ~ 6.48 65.81| =nLst | 500 ~ 6.48] 1.99 10.07
3 100kN/ Mm% 5 -l -~ = -|3m%Ei#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&x#Z5 -~ = = =
zh st -l -~ = -| Zh st -~ = = = Lt = -~ = -| #hiist -~ = = =
4 100kN/ Mm% 5 -l -~ = -|3m%Ei#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&xHZ5 -~ = = =
zh st -l -~ = -| Zh st -~ = = = Lt = -~ = -| #hiist -~ = = =
5 100kN/mM%E{BZ 5 -l -~ = -|3m%Ei#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&x A5 -~ = = =
s 1.00{0.00 ~ 4.90 61.09] =hLls |0.00 ~ 490 2.19 11.05 Lo 1.00] 500 ~ 7.31 61.09] =nlst | 500 ~ 7.31| 2.19 11.05
6 100kN/ Mm% 5 -l -~ = -|3m%Ei#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&x#Z5 -~ = = =
Lo 1.00]0.00 ~ 6.61 83.44| =hLls 000 ~ 6.61| 1.92 9.69 Lot 1.00] 500 ~ 843 83.44| =nLst | 500 ~ 843| 1.92 9.69
7 100kN/mM%E{BZ 5 -l -~ = -|3m%Ei#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&xHZ5 -~ = = =
Zh st 1.00{0.00 ~ 3.86 48.44] Tn st (000 ~ 3.86) 220 11.13 st 1.00] 500 ~ 556 48.44| =nllst | 500 ~ 556 220 11.13
8 100kN/ Mm% X % = =1 ~ = -|3m#*#EZ25|0.00 ~ 0.38] 3.98 20.10| 100kN/m%i#8% % = = ~ = -|3m##EZ%| 500 ~ 6.03| 3.98 20.10
Zh Lt 1.00/0.00 ~ 1.21 490 =hdst 1038 ~ 1.21] 3.00 15.16 st 1.00] 5.00 ~ 6.03 490 =hlst | 5.00 ~ 500 3.00 15.16
9 100kN/MZ#8 2 % -l -~ = -|3m#%i##EZx4%(000 ~ 0.17] 3.32 16.77| 100kN/m%#B 2 % = -~ = —-|[3m%i#EASH| 500 ~ 5.06( 3.32 16.77
Lt 1.00{0.00 ~ 1.09 10.12| i ist (017 ~  1.09( 3.00 15.16 st 1.00] 5.00 ~ 5.06 10.12] Zhdst | 5.00 ~ 500/ 3.00 15.16
10 100kN/MZ#8 2 % -l -~ = -|3m#%i#EZx4%(0.00 ~ 033] 3.77 19.05| 100kN/m%#B2 % = -~ = —-|3m%iEZ5H| 500 ~ 5.06| 3.77 19.05
st 1.00{0.00 ~ 1.18 551 £hust 033 ~ 1.18] 3.00 15.16 st 1.00] 500 ~ 5.06 551 #hilst | 500 ~ 500 3.00 15.16
» 100kN/MZ#8 2 % -l -~ = -|3m%i##EZx%(0.00 ~ 037| 3.91 19.77| 100kN/m%#B2 % = -~ = —-[3m%i#EASH| 500 ~ 559 3.91 19.77
st 1.00{0.00 ~ 1.20 498 =4t 1037 ~ 1.20] 3.00 15.16 st 1.00] 500 ~ 559 498 =hlst | 500 ~ 500 3.00 15.16
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ Thst ~ ZhLst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ st ~ st ~
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